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MBA Degree (FT/PT) First Semester University End Semester E
21-371-0102/21-372-0102: STATISTICS FOR MANAGERS
(Regular and Supplementary)

xamination-January, 2024

Time: 3 Hours Max. Marks: 50
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In Kochi, 30% of the workers take public transportation daily.

a) In a sample of 10 workers, what is the probability that exactly 3
workers take public transportation daily?

b) In a sample of 10 workers, what is the probability that at least 3
workers take public transportation daily?
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After correcting the proofs of the first 50 pages of a book, it is found that
on the average there are 3 errors per 5 pages. Estimate the number of pages

with 0, 1, 2, 3 errors in the whole book of 1000 pages. _(__ef'f = 0.5488)

PART C

(Answer ANY TWO questions. Each question carries 10 marks)
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The following table gives age in year of cars and annual maintenance
cost (M/c) (in hundred rupees).

21 23 22

" a 4-year old car after finding the
s). Also, find coefficient of
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bulbs of average length of life 2000
rocess was developed with the hope of
Ibs. Samples of 25 bulbs produced
and the average length of life was
e whether the average length of the
th of life of bulbs follow normal

in New Delhi. The business
nall in the city. Based upon
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(a) A certain drug is claimed to be effective in curing colds. In an
experiment on 328 people with cold, half of them were given the drug
‘and half of them were given sugar pills. The patients’ reactions to the
ireatment are recorded in the following table. Test the hypothesis that

the drug is no better than sugar pills for curing colds

Consequence
Treatment Helped Harmed No effect
Drug 104 20 40
Sugar pills 88 24 -

Given: XL ons2 = 5.99
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